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6. Answers

a. {1, 2}, {1, 3}, {1, 4}, {2, 3}, {2, 4}, {3, 4}. (If the order is deemed important, then there will be twelve outcomes.)
b. 1/6 because only {3, 4}corresponds to two 7 mm bolts.
c. 4/6 because {1, 3}, {1, 4}, {2, 3}, {2, 4} corresponds to one of each size
10. Answers

a. F.
b. T.

c. True because the Law of Large Numbers states that the sample proportion of defectives will approach the proportion of defectives for the process as the size of the sample increases.

12. Answers

a. 
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, where the first equality used DeMorgan's Law.

c. 
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14. Let A be the event inspector A found the flaw, and B be the event inspector B found the flaw.

a. 
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, where I've used DeMorgan's Law once again.
b. 
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c. 
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16. Let A be the event component A functions, and B be the event component B functions. Then 
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